MA 115 Exam 3 Name:

2. List the three Pythagorean Identities:

(a) : élnaty\j + oosa(x\ = |
(b) » ‘r", Lm() Swtzc*)
©:7 T b edoy

3. Give a function equivalent to what is given:

(a) sin(—z) = — St [x)
1
() sin(z) B
| |
(c) sec(—x) = = —
Cos (—X) cos(¥)
(d) Cotl(x) B

4. Evaluate exactly without decimals: (If undefined write UND)

a) sin(Z) = N+
@ sinf) =

(b) tan(150°) = 4w (36 — 30" ) = Aan (=307)
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(i) arctan(0) =
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5. What is tan(cos™!(z)) ws"(x) -5
A &O{J _ ¥
X = Co_(e" — T/\_ - 7
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6. State the amplitude, period, and all shifts for the following functions:

(a) 55111(?%)—&—2 = 53”—/"‘ {%()“53)57@%(\&(7&-?3) +~ C

Amplitude: 5 ! L lvq\ A
T . - §m T )
Period: E;s-\"\ = of ;,:,S‘ - = —Qfﬁ = @Q/M‘-Ol
l.t
Horizontal Shift:  nyovy- P oy, N l‘ﬁ' + r\\gf;'&
Vertical Shift: 1,U(? RN C, v erl \(L'\/“_ U’{)
k
7 T
(0)| L (e + 7))~ 0

Amplitude: 7/;2
> _ T
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Horizontal Shift: w ™
7

Vertical Shift: &p\,_/\/ L{

Period:
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7. For the following write the letter of the graph corresponding to its equa-

tion. W =2 — de }

(i) y = 2sin(z + %) (i) y = %sin(%x) -2
B C
(iii) y = cos(x): (iv)y = — cos(%rm) +2:
ET T A\
~ Z
FQM T . 3 . 1
(v) y = 2cos2(x — g)] (vi) y = 3 sin(3x) + 3
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